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6. The figure shows small square (-]- & = 35) placed (*x ) a large
square with its upper left area overlapping it(E 2 &€& &) 1tis
known that the two shaded parts (f£ #23% 4 ) have the same area (&

## 49 & ). How many times (4 ) is the area of the large square

bigger than that of the area of the small square?

(A)L.5times (B)1.8times (C)2times (D)2.4 times
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. In the square ABCD as shown in the figure, points E and F
are on the sides (:#) BC, CD respectively ; and

BE:EC=CF.FD=1:2, EF=5 cm. A small ball (3£) moves
from E along a straight line (7 % = 41) toward (+ ) F. Every
time the ball hits (i) a side of the square it then rebounds
(* 5#), and follow (ﬁ i) the reflection of light (st 5
#+) when rebounding. After several rebounding, when the
ball returns (= ¥]) to point E for the first time (% — =%), it
has already moved how many cnetimeters( > 4 )?
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